2025F = =0ilat 2E HSAED

A MEHED
M QHHIEE dIE sS4

9. M2HS S (chel: =i2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
H=dEn 15,069,078 14,077,274 991,804
= 33,600
Jl 1,045,718
& 2,485,009
Al 11,504,751
BNEE ME |4 10,665,037 11,627,217 /962,180
= 33,600
Jl 545,718
& 1,635,009
Al 8,450,710
HdEME =4 6,292,567 5,088,598 1,203,969
& 1,278,796
Al 5,013,771
=M & d=CH2] Hxl =& 45,600 476,200 A\430,600
201 et23| 43,600 74,200 230,600
01 At22tel] 40,800 70,200 229,400
HISCHSI(BAL HEIRIR LBt =S| 10,000
Sl 2EF=FEY0IEUE FE AFBE 20,000
HSHAHAZIODNE SSKAXE SR 10,800
02 S324H| 2,800 4,000 21,200
2EXNS () K= 2,000
ZEIZ(LR) 29 800
202 044 2,000 2,000
01 =LHOHI 2,000 2,000 0
=AM & d=U3 |X| =& Y| 2,000
H=HE &t 10,000 10,000 0
307 2I2t01 10,000 10,000
04 QIZFHAAIHE X 10,000 10,000
Ko6sl M=M=zl &t 10,000
COMA &t 700,000 700,000
307 2I2+0| ™ 700,000 700,000 0
04 QIZFHAAIH E X 700,000 700,000
SEFETMEUE &t 700,000
ST ZFUAMEUS Ft 399, 120 331,070 68,050
307 212t01 ™ 399, 120 331,070 68,050
04 QIZHHAIAIHE X 399, 120 331,070 68,050
K312l SEEZZMHAMSUE SOt 399,120
2EAl ME2 28 431,600 448,001 /16,401
307 2I2t01 ™ 431,600 445,501 A13,901
03 LAHMHE2SHIE X 431,600 378,901 52,699
2Al Mg 22 (ASDEHAZH| 30
oH) 431,600
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2A: HsdED

A DHHI‘='E"’ s s4
tel d2Hs |4 CEREERD
SN - FE - SRI(E) - KIRAY - BSS Ol st Gl HIRE2
04 DIZFSHAIAID B X 30,000 30,000 0
SHLEWS Mzl Jigt =4 30,000
(= 9,000
Al 21,000
BLREs 2= 2 XA 480,000 625,200 A145,200
201 et | 6,000 1,200 4,800
01 AtR2elt] 6,000 1,200 4,800
HSYAL =& 2F S 6,000
307 212t01™ 474,000 474,000 0
02 SIHBAANHEE 474,000 474,000
sA4 5328 dXEH X 25,000
CONNE M L X S4 303,000
Z2US Hss 75,000
BLR THAE 24 22 |4 65,000
SHECHSUE It 2642 XY 6,000
S=E M= M=sial A2 10,000 159,000 A149,000
307 2IZH0| A 10,000 159,000 149,000
04 QIZFSHAIAIE 2 T 10,000 63,000 53,000
3AE D18 SEI=UE &t 10,000
HMLEUS 500,000 0 500,000
& 150,000
Al 350,000
307 212t01™ 500,000 0 500,000
& 150,000
Al 350,000
04 QIZHHAIAISE 2= 500,000 0 500,000
SYIMNLEUS = K& 500,000
& 150,000
Al 350,000
Sdis2 29 22,380 29,260 6,880
201 B2 | 22,380 29,260 6,880
01 At22teld| 17,280 17,160 120
D], MY dxtz
180,000 x12& 2,160
HAEAHI 990,000 % 12 11,880
Agtztel] 180,000 % 12 2,160
SOIAHIAIAE 22| 1,080
02 224 5,100 12,100 7,000
23223 2 HAl 3,000
ANE X8 2,100
dXlzd =X A3 25,000 10,000 15,000
307 212t01™ 25,000 10,000 15,000




2AM:
X{XH -
o /e

cH):

HSZED
Y HS 24
HENS |4

HEE

SN - HEY - SRI(EH) - KIRAE - B Ofl st e HIDE2
02 LB AAIEEE 25,000 10,000 15,000
dXgd d==t eldElE X3 25,000
AEXOPIE 25 NP 35,000 55,000 220,000
201 LBt2 3| 35,000 55,000 220,000
01 AtR2telH] 35,000 55,000 220,000
AEXOPIE =8 E228 7Y 20,000
SEAXXMI(JSSEFAEHO0ILHE) EE
=3 M 15,000
JS CUP =HIRAE F203 400,000 0 400,000
< 120,000
Al 280,000
307 eI2to| ™ 400,000 0 400,000
< 120,000
Al 280,000
04 QIZFHAIAIIE X 400,000 0 400,000
2025 28 JS (P =MFAE F2U2 K 400,000
= 120,000
Al 280,000
SRNEEHE 8= RAE =S20UE 200,000 0 200,000
< 100,000
Al 100,000
307 eI2t0| ™ 145,000 0 145,000
< 72,500
Al 72,500
04 QIZFHAIAIIE XL 145,000 0 145,000
LHESEHE 8= 744 =102 145,000
= 72,500
Al 72,500
308 MAIHHSOIA 55,000 0 55,000
= 27,500
Al 27,500
13 SIS0 U etE &4 X AE ALY 55,000 0 55,000
SHAI2EHEN 8= R4 =203 2 55,000
= 27,500
Al 27,500
S| d=REls ¥ HNSS0EH E=MEMS 250,000 0 250,000
SEU3
= 75,000
Al 175,000
307 212t01& 250,000 0 250,000
= 75,000
Al 175,000
04 CIZFHAIAT E X 250,000 0 250,000




2A:

=

H=& S

M GNEF W 4
tel d2Hs |4 (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
3| H=2RE0E ¥ SHAISZ 0 EH
HIZMEHE RO 250,000
= 75,000
Al 175,000
s 229 ol &= 0{2l0| HI=0H3 290,000 0 290,000
& 145,000
Al 145,000
307 212t01™ 290,000 0 290,000
= 145,000
Al 145,000
04 CIZFHALAIRIE T 290,000 0 290,000
S YEo ol 8= K20l Ht=0Hsl 290,000
= 145,000
Al 145,000
= AISOE ZEAF NSS! 214,000 0 214,000
& 64,200
Al 149,800
307 212t01™ 214,000 0 214,000
& 64,200
Al 149,800
04 QIZHHAIAISE 2= 214,000 0 214,000
Ml 393 &= AZUe EAF NSTHE 214,000
= 64,200
Al 149,800
MEE 4 2,921,870 2,839,619 82,251
= 33,600
| 545,718
& 196,213
Al 2,146,339
MEHSF2A HAKIA 885,900 885,900
307 212t01™ 885,900 885,900 0
04 QIZHHAIAIE 2= 885,900 885,900 0
2025 SEEESPEE =05 ¥ 832
2 H, 8=2ME dEH 82,000
2025 CHAIEZEHED &= 506001 MEX=
=703 33,000
2025 28 JS CP U111 st=mad =08 180,000
2025 SHHMIEZEO{E &A= =2t01Z S 20,000
252 SHAIEHRHEW 8= S30! HiLIA
tHal 25,000
53| SHHISSHEN MISMEXSERUS 30,000
HM9g| CHNIEZOIEH SEetN=ERU3 9,000
2025 SHAIEEHEN S50 =& =703 30,000
Hieal StAISZAGEHE H=At2lCl0=2CH=l 20,000




2A:

F M

H=& S
SHNIEE WS |4

e dENS =4 (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
H138l SAISEEHEN &= Ol0tEN 2=
=l 15,000
173 SAIEZLEH HMSELIE S 70,000
K53l BEAIEE L= 3X3 s-U3 10,000
Mi32l SHAIEELENY 8= OO0 =8
=l 40,000
K9zl 2l&I! HoIE=U= 5,000
HEHE SXAD € 218D 28 20,000
C(Hd=)eHRUE & BSSE 3EI| U3l 72,000
2025 SHAIMSSIEE(O]) MEH=US 99,000
A= =IOt 3,000
SEHSMUEH=UR 2ot 46,900
2025 2 HE 8=dUES == 50,000
2025 HI2Z0I=HE 7000 6oHAIZ S22 5,000
2025 8= =5 F+cld 21,000
1= & &9l 283 N 45,000 45,000 0
307 2I2+0| ™ 45,000 45,000
04 QIZFHAAIH E X 45,000 45,000
d= - U Ed 30,000
CONE EM R Y=TY 15,000
MBHISXIEX X LMHE (XEH) 18,819 18,819
307 212t01 ™ 18,819 18,819 0
02 QIZHHAAIEE X 18,819 18,819 0
MERSNEX LM (KA 18,819
MEBHSXIEA BHXIAG (EX) 161,980 163,440 8,540
7l 80,990
= 24,297
Al 56,693
307 212t01 ™ 161,980 163,440 8,540
Jl 80,990
= 24,297
Al 56,693
02 QIZHHAAIEE X 161,980 163,440 8,540
LSS XIS A BHXI 161,980
Jl 80,990
< 24,297
Al 56,693
HEXNCX 2el(BX HHA) 92,413 86,606 5,807
= 27,724
Al 64,689
307 2I2t01 92,413 86,606 5,807
= 27,724
Al 64,689




ord
K]
OH
[l

-

KIo

Hlw

5,807

10,249

10,249

10,249

PIE]=>
e

86,606

48,000

48,000

48,000

184,128

184,128

184,128

92,413
92,413
27,724
64,689
48,000

33,600

iy

Al

4,320
10,080
48,000

33,600

iy

Al

4,320
10,080
48,000
48,000

33,600

iy

Al

4,320
10,080
194,377
97,188
29,157
68,032
194,377
97,188
29,157
68,032
194,377
194,377
97,188
29,157
68,032
30,000
30,000
30,000
30,000
47,358
47,358
47,358
47,358
285,898

284,398

H

Al
Il

H

Al
Il

H

Al
Il

H

$: VoL

- SR(SIAH) - HRAHS

- H

A

ISXEX MLIHEH

307 212+0|&

307 212t01&

IN

3,969
3,969
3,969
41,981
40,481

20,000

30,000
30,000
30,000
43,389
43,389
43,389
57,500

243,917
243,917

77,500
37,500

Al

oI

=
[=)

|

307 212t01&
307 212+01&

308 Xt




[0d
K]
OH
[l

-

KIo

Hlw

20,481

1,500
1,500
45,000
45,000
45,000
13,062

13,062

226,758

PIE]=>
e

186,417

45,000
45,000
45,000
105,000
105,000
105,000
213,696

213,696

58,431

15,000
5,000
20,000
206,898
206,898
58,378
148,520

1,500
1,500
1,500
45,000
45,000
45,000
5,000
5,000
2,000
5,000
28,000
150,000
150,000
150,000
30,000
30,000
20,000
30,000
20,000
20,000
226,758
113,379
34,014
79,365
226,758
113,379
34,014
79,365

226,758

Il

iy

Al
Il

H

113,379
34,014
79,365
58,431

226,758

Al
Il

H

Al

17,529

iy

- HES

- SR(SIAH) - HRAHS

- H

A

X+
o

HIOIXI A

=
=

5

=
=

ORI K

PN
(=)

A=01H

b

~J
oJ

3

)

=]
[und

2|

e

(REXITH

2|

usl

I
|

Z

3

=]

| =
| N

5

2

M= CH

SHNIESHED d=ZAl8H-20

NS HED &

SHAI2ZE H=HH

(¢]

307 212t01&
307 212t01&

ZOH! HMI=CH

ZHOH

307 212+0|&

IN




=

O HMsHEDL
SHNIEE WS |4
L HEHE |4

SN - BB C9I(3H) - NRAIR - BaS Gl
Al 40,902
307 2I2t0lA 58,431 58,431
[ 17,529
Al 40,902
02 QIFAAAIRIE R 58,431 0
ZHOHQ! AMBHSXEX HRMAH 58,431
[ 17,529
Al 40,902
ARX 2% OISA(XHA) 37,200 34,800
301 LBE A3 37,200 34,800
02 AFBIEEEAHS(FAAS, L) 37,200 34,800
ALXURO0IRE B4 MASS RS
SR NL 20,0002 %140 * 128 33,600
HOHQl ALIUT0|IRY SHG HRUS
EENE. 20,00094% 152122 3,600
AZ=x 2E 0|2A(EX) 285,714 159,600
J| 200,000
[ 25,714
Al 60,000
301 LBtEAS 285,714 159,600
p) 200,000
[ 25,714
Al 60,000
01 AFBIEEESH2(RREZ) 285,714 159,600
AREAR 0|BA XA 285,714
p) 200,000
[ 25,714
Al 60,000
HOHQIA T EALLO0|RA(BX) 77,372 36,100
p) 54,161
[ 6,963
Al 16,248
301 LBEAS 77,372 36,100
p) 54,161
[ 6,963
Al 16,248
01 A EEE4HS(2NEZM) 77,372 36,100
EOHQl AZAUEOISA XA 77,372
J| 54,161
[ 6,963
Al 16,248
HUYYMAZZNRKT2 2K (B A (HEALY) 40,000 50,000
[ 26,000




2AM:

F M

H=EL
SHNIEE WS |4

e dENs =4 (Crel: xel)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 14,000
307 212t01 ™ 40,000 50,000 10,000
= 26,000
Al 14,000
02 QIZHHAAIEE X 40,000 50,000 10,000
SEHSAMALIHE WA 40,000
= 26,000
Al 14,000
MBS S22 1,650 1,650 0
& 495
Al 1,185
307 2I2+0| ™ 1,650 1,650 0
= 495
Al 1,185
02 QIZHHAAIEE X 1,650 1,650 0
HEHMSXN A ES2EH 1,650
= 495
Al 1,185
S2EMHE Lolitetk=0al 190,000 180,000 10,000
307 eI2t0| ™ 190,000 180,000 10,000
04 QIZFHAIAIIE X 190,000 180,000 10,000
K223 2EHESoH0eEWS 190,000
dEHSAE €3 & 34l 1,450,600 699,000 751,600
= 160,000
Al 1,290,600
MEXFAlE &XI 157,600 138,000 19,600
101 el21d| 1,600 0 1,600
4 D222 ASE 1,600 0 1,600
HEHMSFAE M=2FY 1,600
201 28t=3d| 53,000 73,000 220,000
01 At22tel] 6,000 26,000 220,000
MEHSAIE 2 2,000
dEHSAE 25 xig S 4,000
02 S324H| 47,000 47,000 0
SEHSAL (25017 L&) AEEH ]
2= 47,000
401 AlEHIZ R 0HY] 70,000 65,000 5,000
01 Al&H] 70,000 65,000 5,000
A2 HSAE(2S017 28) 41 70,000
405 KH&HFSHI 33,000 33,000
01 AL ESFISHI 33,000 0 33,000
g2 AR2HF2 2EHIS 33,000




2A: A

=

SHEM

M QHNIEE Hs |4

che: MEHISAE AX 2 Jy| (S| : &S
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ARDHESAIEESE2 213,000 301,000 88,000
401 AlEHI 22 0HH] 213,000 301,000 88,000
01 Al&H] 213,000 301,000 88,000
ARDERA 242 20,000
MY SALELEY 50,000
MEBHSAL ISR 50,000
DMA2ODH Al&EY 50,000
SH=DZ 42 = 43,000
FOIZH0{0fl A 60,000 0 60,000
401 Al&HI L2 0HH 60,000 60,000
01 Al&H] 60,000 60,000
CHEA A2 0FI2SD|7 HHI(FRIRO) 60,000
OlAMERIS 2R 2422 320,000 0 320,000
[ 160,000
Al 160,000
401 Al&HIL S 0HY] 320,000 0 320,000
[ 160,000
Al 160,000
01 Al&H] 320,000 0 320,000
OAMSHSSY 242 320,000
[ 160,000
Al 160,000
FEMA2TE XA (XHH) 700,000 700,000
401 AlEHI L2 0HH 700,000 0 700,000
01 Al&H] 700,000 700,000
FEOIADTH 4 EXHY 700,000
HEAE 29 4,346,161 2,392,117 1,954,044
7l 500,000
[ 850,000
Al 2,99, 161
AlBIBIES Q5 HISAIE X 4,346,161 2,392,117 1,954,044
7l 500,000
[ 850,000
Al 2,99, 161
2YEE sy 29 540,065 630,831 A90,766
101 Q124H] 159,385 124,351 35,034
04 2RISR 159,385 124,351 35,034
SYEEHSY A 22 34,152
A== 80, 2402 % 12452 19,659
=58 80,2402+ 1522 4,173
== 80,2402« 12118 883
-522=2 Y 120, 36021 %1 H*36! 4,333




A H=HEL
2 H=sAE 2E
=

el ARIBISEE P8 MSAE X3 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
-R25Y & 80, 24021%12% 162 1,284
=& 140,000+ 18122 1,680
-EH| 95,00021% 12 * 122 1,140
= P=E=Dli] 500,0002* 1Z*23] 1,000
SYEEHSY 29 22 34,152
A== 80, 2402 % 12452 19,659
=58 80, 2402152 4,173
—ERSE 80,240« 1118 883
-5222 Y 120, 36021 %1 H*36! 4,333
2254 ¢ 80,2402 *1H*16 1,284
-S| 140,000+ 18122 1,680
-S| 95,0002 * 12128 1,140
-HESOH| 500,000 %124%235] 1,000
BILIAZ 22 HA 74,081
A== 80, 2402 x2 % x2452 39,318
=58 80, 240 x2 =522 8,345
PN 80,2402%x2 3 %11 1,766
2254 ¢ 80,240 %2 X% 16! 2,568
=&t 140,000 %22+ 122 3,360
-S| 95,0002+ 128 2,280
-YEIOHI 500,000 *x2H*23] 2,000
5224y 120,360 2%2% %602 14,444
SYUEEHIFER ME 17,000
201 L2 A 348,680 435,480 86,800
01 AF2ZH2IHI 108,680 122,280 A13,600
SYUEEHFY Lt 6,000
SAEEEHSH FLARE 9,000
=Byl =T [cT=Tp 3=}
30,0002 %23 CH+ 12 8,280
e 7,200
M| Y XHIE 3,000
E28 49 M 1,000
AYAE L NSEH SRS 2= 2,000
JIHA, ®IA QX2 BE 3,000
KSHIOAIAR 22] T2702 240[4IA
ez 2,100
LOIHH| BH 242
1,400,00024+ 122 16,800
Hgtx |Al22] 1,000,000« 122 12,000
ZEHSEI2 S| HEFEY 22|
2,000,000 *4 27| 8,000
EEHSEIS AYAL HHURIUH 242 19,300
LA 37 450,000 63] 2,700




SM: HSTED
[ USAL 29
T2l AIQIOHES 218t MSAIL XY (Chel: =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
WELX 22 550,0002+63 3,300
HSAIE MIQHRMRL|X MR DAIE R
1,000,0002/%53] 5,000
02 SZ2H| 240,000 313,200 AT73,200
AEZHIK I 32,000
ZEHSY YL SN 22
150, 0002 *82CH 12,300
rapliei= 17,500,000 62 105,000
SHHEUAT )22
2,400,00021+62 14,400
SHHEUAZ MotE 23
125,0002i* 12 1,500
Yot 2= 2,000,00024 6 12,000
SARIB(Mst, QEHU 8)
300,00024* 128 3,600
HIAZ®I| S22
1000008 * 122 1,200
N a4 8,000 & *200E+23] 3,200
2II1™3| 2 A
1,500, 0002 *2CH 3,000
SEHSZ 20| BIIZA 48 400
I EE S| 100
2ENEE(ZEMSH) FIIEY &Y 6,000
TS FIILHIQTS $42 5,000
XI5t NIZEIEET H2-EH|
2,500, 0002 *3CH 7,500
+E2UX Y 24 HFEX 2
7,00021+950E 6,650
ZZ4 HiEfel nA 330,000 150H 4,950
BILIAZ AIZRHISAI] 10,000
7T AZEHIRA] 5,000
2T AILEHIRAY] 5,000
HI|EH| BIIAA 222 1,200
206 M=l 10,000 10,000 0
01 XM=l 10,000 10,000
SEHSAE W SBRFTHE 2 UL ALY 10,000
401 Al2HI L2 CHY 22,000 61,000 239,000
01 Al&H| 22,000 61,000 239,000
SYTHASY X5t TMTA 22,000
eI & HENSH2Y 399,604 380,213 19,391
101 Q124 68,304 66,922 1,382
04 JIRIZ2 S 2% 68,304 66,922 1,382
EEAIIZ Ha22 34,152
-Jles 80,2402 1%*245 19,659




2A:

n'
M WAL 2d
SRt AIRISIEZ I8 MSAIE X3 (cHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
=54 80,2402 x 1% %5221 4,173
-t 80,2402 %12 x112 883
-522=2 Y 120, 3602 * 1 H+36 4,333
-ResgsE 80,240 %1 x 16! 1,284
=&l 140,000 1H* 128 1,680
-nEH| 95,0002 *12* 122 1,140
~YEESOH 500,0002 1 %23 1,000
s izl 34,152
-JlIEa 80, 240+ 12 %2452! 19,659
>4 80,2402 x 1% %5221 4,173
-t 80,2402 %12 x112 883
-5z Y 120,360 % 12x362 4,333
-ResgE 80,2402 %1XHx 16! 1,284
=& 140,000 1H* 128 1,680
-nEH| 95,0002 %12 * 122 1,140
~YEESOH 500,0002 1 %23 1,000
201 23| 276,800 260,260 16,540
01 AtR22lt| 64,880 44,340 20,540
2Bt=ZH| 1,000
HLAEE 72 2,000
0| g0 321887 itz
1,090,000+ 12& 13,080
I L AUBE 2 3,500
=&l 2,000
HI|oHE 2R 2
4,250,000&*4=D| 17,000
S| oHFMEA A=Y
1,750,000& %42 7| 7,000
EEEIIE 24Hel fEx22
550,000+ 12& 6,600
AYLYAALS =T 450,000 %63 2,700
Sc0l2E 2 F1¢ 10,000
02 2223H| 211,920 215,920 24,000
rapliei= 80,000
Aot R3 1,500,000 62 9,000
SO ¥ FHLERF 60,000 %122 720
MEX Y DItaX FHAH
2,500,000 *23] 5,000
JIHEH RIS 500,000& = 12& 6,000
SEEIE O A2 2L 4,000
e o 27| 22l
150, 0002 *54CH 8,100
SEHIIE TOMS EML(0ofol&
=el) 9,000, 000833 27,000




2N KIS
HM: HSAL 29
CHRl: AIRIBEES 28 HISAIE X (chol: &2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
NEEEIEINE] 40,000
20| I BARSB(SEZHIE, A
HS2) 300,000 13 300
SZTALS(HEMS) FIIEE 2
4,800,00024 %23 9.600
PEANLS(ZEAIE) HIHE 29
5,200,0002 %23 10,400
SEHIIE 2 HEAMS2 ML ot
N = 2,500,000 +2A 5,000
Ze0|YE 2 il 2 22
1,000,0002 %53 5,000
HIIAH| BIIZAL 242(200A) 1,800
206 M=l 2,000 2,000
01 XH2H] 2,000 2,000 0
SEIHIIE MCOPE SEHIZ L 2| 2,000
401 AlEHI L2 0HH 40,000 40,000 0
01 Al&H] 40,000 40,000
2210|YUE 22CE &X 40,000
405 KHAHE SH 12,500 11,031 1,469
01 AU SEFSY| 12,500 11,031 1,469
HEHSZ HIEESHE 2L 12,000
HEMS2 40| 2L 500
oM SAH 29 XY 806,719 650,760 155,959
101 Q124 373,969 246,840 127,129
M IIHR22ISES 373,969 246,840 127,129
2OIHSHAH HARE 134,920
-JlIEa 80, 240 R +4 2 %245 2! 78,636
=54 80, 240 %4 3 x5! 16,690
RPN 80,2402 +4 % x 112l 3,531
R 80,2402 +4 2 x 162 5,136
5222 120,360 *2H 652 15,647
=&t 140,000 x4+ 122 6,720
-S| 95,000 x4 %128 4,560
-YEIOHI 500,000 *x4H*23] 4,000
2OIHSHEH HMSXISA 98,592
—SHAAHSOEE HH) 7,240
. JlEs 13,0002 *8A[ 21392 % 1H 4,056
. TELY
13,0002 *8A| 2H82 12 832
. XL
13,0002 *BA| 222 %1 208
. REEYsY
13,00021*8A| 2132 *1H 312




A H=HEL
2 H=sAE 2E
=

el ARIBISEE P8 MSAE X3 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
. 5Y224Y
21,7002 % 12A1 252 %1 1,302
. 24l 140,000 x28* 1H 280
., wSH| 95,0002 *22x 1Y 190
N e 30,000 *02x 13 60
—5 AU A} 91,352
= 13,0002 +8A| b2 %2452 50,960
FE2Y
o 13, 000RIKBAI2H22x522] 10,816
. XL
13,0002 %8A 22T 11 2,288
. REEYLLY
13,0002 *8A| 22 * 162 3,328
22244
O 260, 000214224430 15,600
. S 140,000 %22+ 122 3,360
. LS 30,0002+ 128 720
WEH| 95,0002 %2122 2,280
. BEFIHI 500,000 *x2H*23] 2,000
FOIHKHEH IH2H 140,457
-JIE23 80, 240 R +4 2 %2452 78,636
-=F=g 80, 240! x4 S x50 2! 16,690
R 80,2402 +4 2 x 162 5,136
a2y 120,360 %23 %652 15,647
=&t 140,000 %42 128 6,720
-1 EH]| 95,0004 * 122 4,560
RPN 80,2402 %4 S %112 3,531
R raE= 10,030+ #0276 5,537
-HEFOH 500,000 x4 H 23| 4,000
201 L2 A 411,750 372,920 38,830
01 AF2ZH2IHI 105, 130 95,100 10,030
ot |2E 200,0002 %122 2,400
NE=t=2=1 100,0002% 12 1,200
XM (SEA) 50,0002+ 100S 5,000
sSstaRl|lg A2 20,00021%250 5,000
2RI M= AT) 50,0002 *100= 5,000
ph2Z AR (2 2A) 70,0002+70S 4,900
2olpy =z 60,0002*36S 2,160
Eolal 2F 250,0002* 12 3,000
TSUE 500
MNIE2 s 4,000
)| MNEE 50,0002 *7CH* 12 4,200
£H(01R0t2E!) 2E 4,000




2N KIS
HM: HSAL 29
CHRl: AIRIBEES 28 HISAIE X (chol: &2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
TESH YSIEY =2 2,000
FHX 24 FEAANR
110,000 128 1,320
=H2AL TS| 450, 0002 x63 2,700
HARE 300,000+ 12 3,600
LED S017E= 200,000 * 122 2,400
=S4l 9,000 1202 x 122 2,160
Sotae| 2oy 220,000 * 122 2,640
CCTV X 24 29| 280,000 %12 3,360
22p| e 22|
280,000 128 3,360
SHEIAIE QAERE| 2
330,000 128 3,960
LH2IAL QSRR (2YHOIESH)
330,000 % 12 3,960
HI|orE 22| (=]
680,000 * 12 8,160
SE2HDRAAE RX S A 13,200
20| oHAEZ 2|2
500,000 * 12 6,000
BEAl ZTHSAE JIHAHISKZ2X 2
g 2aY| 825,000 62 4,950
02 2229 306,620 277,820 28,800
2222 2 MA 164,320
-SHea 60,0004 128 720
-Hes 10,000,000 +72 70,000
-AGIEER3 93,000
-SEYER3 50,0003 x12& 600
o2 100,500
-2UE BT 1,6002%10,000 £ *63] 96.000
-SRI’ K8 4,500
A& ZHIS X 41,800
-ANE2 |xIzel 5,000
-=83 2 1,500,000 %23 3,000
SJIHEH |XIze 13,000
-2 A2 L AHA
3,000, 0002 x2CH 6,000
-4 Xz 4,000
-grE A X122 2,000
AR SX22 5,000
~HIBBAILS(2LIHSHE ) B HEE
2| 3,800
401 Al4H| 2 S HY] 10,000 30,000 A20,000
01 Al&H] 10,000 30,000 A20,000
SHI0IYSHE ALE DH 2A 10,000




2N KIS
HHM: HSAE 2
CHe: AIRIBHEZ I8t HISAIE X (chol: &2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
405 XHAHESH 11,000 1,000 10,000
01 AU SEFSH| 11,000 1,000 10,000
HHIA0MYFME AP 2L 11,000
BRATIXNT 29 330,336 370,445 240,109
101 QI24H] 81,266 78,685 2,581
04 JIRHHI22ISE 4 81,266 78,685 2,581
BYATXMT HAZL 69,266
-JlIEa 80, 240 x2 Q%245 2! 39,318
—=5g 80, 240222 x52 8,345
= DA 80,2402 x2S %112 1,766
R 80,2402+ x 162 2,568
5222 120, 3602 x2 3 x40 2! 9,629
=&l 140,000 2%+ 122 3,360
-S| 95,0002 %2 12 2,280
-YEIOHI 500,000 *x2H*23] 2,000
BRATIXNT KX 12,000
piESsE 200,000 x4 2 15 12,000
201 LBt A 145,570 140,260 5,310
01 AF22t2IHI 68,720 56,260 12,460
2Bt=ZH| 1,250,000 8 10,000
HARE 3.000
=Rl 9,000 *3%* 1202 3,240
FOBHl B 2 300,000 * 12 3,600
|, 2IIFFD|, i, M| 2xe
480,000 %122 5,760
ASOIMBIR| & 42
350,000+ 122 4,200
S| RXNEL e 42
207 50024 x2CH+ 12 4,980
MM B2 THEH 42
1,700,00024x 122 20,400
HI|HMBEIXF P DAl T 42 3,000
M=, 22 =EZA
270,000 *23] 540
BYUATXMT HHE A
5,000, 0002423 10,000
02 222YH| 76,850 84,000 AT7,150
23 40,000
MBIEERE 500,000+ 12 6,000
StRes 100,000 * 122 1,200
ISR ESESES 225,000 %23 450
PEr Ha 600,000 %23 1,200
HIAZAD| SR7U|
100,000 %128 1,200




A H=HEL
2 H=sAE 2E
=

el ARIBISEE P8 MSAE X3 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SHFI| K7L
50,0002 * 128 600
HI|LH| QHARCH 48 2,500
INE=ESTSTESIN]E] 18,000
HASD| B2 150,000 = 18CH 2,700
JIHEH |SXIES 3,000
206 T2 HI 1,500 1,500 0
01 M2HI 1,500 1,500
SYALXNT FEE A4H L H2 7Y 1,500
401 AlEHILSTHY| 100,000 150,000 50,000
01 Al&HI 100,000 150,000 50,000
SYALXNT S HAX| S22 100,000
405 XHAHEISH 2,000 0 2,000
01 AL SEF SH 2,000 0 2,000
SYALXMNST JFAPE 2ol 2 2,000
A2 B HE2 235,011 140,535 %,476
308 AFXISHHSOI& 154,011 140,535 13,476
13 B 2SO CHEHE A E I ELAIHI 154,011 140,535 13,476
ZEHS 22 2Y 110,091
MEIBRRSY, 4FZLY HSAL 29 43,920
403 RFXISHHISXH20IH 81,000 0 81,000
02 2I |1 ZSOICHEHXH= = 2 ELAFIH] 81,000 0 81,000
eSS 22 29 81,000
SYHSOIEHMRIE 2F 184,426 219,333 A34,907
101 Q14| 75,706 28,631 47,075
04 It 22X S22 75,706 28,631 47,075
SYPS0IEE 22| 2 75,706
A== 80, 2402 x2 %2452 39,318
TR+ 80, 240942 *52 8,345
-AXtr 80,240 %23 %112 1,766
-0p2t 10,0302 %142 422
-goz2zxg 120, 360 R 2T +652 15,647
R4 80,2402 x2S x 162 2,568
-S| 140, 00022 % * 122 3,360
-S| 95,0002 %2 12 2,280
~HEESIMH 500,00024 <223 2,000
201 Lty 95,920 92,725 3,195
01 Al22+2|H| 38,770 31,600 7,170
AULSZH| 7,000
FARE 7¢ 3,000
=&t 9,0008x3H* 150! 4,080
£ 2| 1,000




SA HSEED
M HSAL 2%
C2l: AIRIBHES 2I5t HISAIA X (chol: &2l
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
D), SJ1FFD|, HiOl 2xi2
400,000 %128 4,800
FoFHl 89 ++& 360,000+ 122 4,320
ALIOIM 2| HEE 448
300,000 %12 3,600
SAIRX 24 HE 242
220,000 % 1CH+ 128 2,640
Moot M| (HE 29 5,000
HIIQHARARIR ZILDAINE 42 3,000
SYHCSOIEHDE SEHBAALY QB4
= 180,000« 360
0?2 229 57,150 61,125 A3,975
g3 36,000
MoleE Q3 300,000 %12 3,600
StR2= 50,0004 *3CH* 122 1,800
AEEH S| 10,000
M B 2250002 *23] 450
20| HIIBA 42 100
HI|LH| QHARCH 48 1,000
SADIA 23 350,000 %12 4,200
207 ARIHELY] 8,800 0 8,800
02 A ADHEH] 8,800 0 8,800
SERIZCIAA(QIEY o2 1) 8,800
405 RHAHESH 4,000 97,977 A93,977
01 AL SEF SH 4,000 97,977 A93,977
BHERIEIRE D17 2 4,000
SYIVIHKHE W22 AL 1,000,000 0 1,000,000
p) 500,000
Al 500,000
401 AlEHILS0HY| 1,000,000 0 1,000,000
p) 500,000
Al 500,000
01 Al&H| 950,000 0 950,000
SYIVHKHE W25 950,000
J| 475,000
Al 475,000
02 22/l 50,000 0 50,000
SUZ0IFSHE HESAY 22l 50,000
J| 25,000
Al 25,000
BUATRNT AZXXY AX 850,000 0 850,000
[ 850,000
401 A& HIL S 0HY] 850,000 0 850,000




2A: HsdED
2 H=sAE 2E
. AlBICEES

40
ol
|

St MSAIE X

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T

& 850,000

01 Al&H] 839,000 0 839,000
SEE=IEY 0IGHH AXXIH & 839,000
= 839,000

02 el 11,000 0 11,000

SEZETEH0|YME AZXEY 7|

2el 11,000
= 11,000

HH2EZHI(MSTEM) 57,880 57,940 260

J1I=234 57,880 57,940 260

JlI238H| 57,880 57,940 260

201 28t=3| 27,480 27,480 0

01 At22tel] 24,480 24,480 0
At22te|dl 24,480

02 S324H| 3,000 3,000 0
S52= £ AA 3,000

202 O4H| 20,000 20,000 0

01 SUHOHI 20,000 20,000

gR=a OoH 20,000

203 =&l 10,400 10,460 260

03 AIBF=AHIR =] 5,000 5,000 0
A=A AR =AY 5,000

04 FANEEHRFAHI 5,400 5,460 260
SNSRI 5,400




